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(M 1) Listening Section
Partl: For questions No.l and No.2, choose the best answer from the choices which will be provided
and write the answers using the characters from A to D.
Nol [A B C D]
No.2 [A B C D]

Part2: Listen to the passage and choose the three statements that best describe the content and write
your answer using the characters from A to F.

A. Security cameras are used to prevent crimes.

Camera data does not help managers run business.

Cameras in shops cannot determine customers’ ethnicity.

Widescreen monitors are sometimes used to show sale items.

Some stores track signals from cell phones to find out the customers’ age.
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Shop managers do not know who owns the phone in the store.
(2] Answer the following questions. Choose the best answer from the choices provided to complete
the sentences. Answer using the characters from A to D.
(1 ( In the classroom )
A: I have a quiz. What is the animal ( ) the fastest?
B : Well, is it a cheetah?
A: Yes. You're right.

( A. run B. which ran C. which run D. which runs )
2 ( At home )
A: Look! ( ) a new watch.
B : That’s nice. Where did you buy it?
{ A. I've got B. I get C. I'm getting D. I'm going to get )

(3 ( On the school trip )

A ( ) a big temple!
B: It’s 46 meters high. It’s more than 1000 years old.
{ A. How B. What C. How old D. What’s )

(B3] Read the following essay and the answer each of the questions.
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(Tan Ying Zhen, “Rain or shine?” the japan times alpha Online 2022.1.28)

(1) According to the passage, why is it said that Singapore’s forecasts aren’t always accurate? Write
your answer using the characters from A to D.
A. Because Singapore’s weather doesn’t change so often.
B. Because people in Singapore don’t care about the weather even when they plan to go out.
C. Because there are sudden showers and small-scale thunderstorms in Singapore.
D. Because the weather is typically driven by larger—scale weather systems.

(2) According to the passage, what does the writer predict the future? Write your answer using the
characters from A to D.
A. The importance of weather forecasts and data will increase in their daily lives.
B. Heavy rain and flooding will become more common in the world.
C. Singaporeans will be sheltered from sudden showers and small-scale thunderstorms.
D. Rain clouds will be as small as a couple of kilometres wide in Singapore.

(3) Please write about a habit that you want to acquire and how you will acquire the habit. Use more
than 30 words.

(@) Write the suitable word from the passage in each blank. The first letters of the words are written
in each blank.

@ The word “(c )’ means “happening regularly or all the time.” For example, “There was a
(c ) stream of visitors to the house.”

® The definition of (e ) is “a short journey arranged so that a group of people can visit
a place, especially while they are on holiday.” Things like, “We went on an (e ) to the

Pyramids.”
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® The word “(c )” means “existing or being produced in large quantities.” An example is
“She listened to me and took (c ) notes.”

@ The meaning of “(m )” is “small amounts of water that are present in the air, in a
substance, or on a surface.” As in, “Plants use their roots to absorb (m ) from the soil.”

(4] Read the following passage and the answer each of the questions.




( Philip Gooden (2009) The Story of English Quercus )

Write your answer using the characters from A to D.
(1 Choose the best answer from the four alternatives below for the blanks ( @ ), ( @ )and ( @ )
in the passage.

® [ A. systems B. combinations C. sounds D. connections ]
@ [ A. emoticons  B. colloguialisms C. euphemisms D. abbreviations ]
@ [ A. homographs B. synonyms C. homophones D. syntactics ]

(2) According to the passage, what is the underlying ideas about approaches to the teaching of spelling?
A. Spelling should be found in popular media topics.
B. Spelling should be taught in all the areas.
C. Spelling should be found in newspapers.
D. Spelling should be taught in schools.

(3) See the ®, the campaign is that
A. increasing influence of Americanized spellings.
B. agitation to straighten out spelling.
C. wasting less time on teaching spelling.
D. root—and-branch revolution in English spelling.

{4) Read the first part of the sentence below and choose the best answer from the four choices to
complete the sentence.
@ According to the passage, those who argue that spelling should be simplified point to
A. a lack of irrationality.
B. a lack of consistency.
C. a lack of universality.
D. a lack of inconsistency.

® According to the passage, English—speaking adults come near the bottom of the table in international
studies of literacy because
A. there are phonetic systems which spells according to sound.
B. there are several highly practical reasons.
C. there are different ways of spelling words.
D. there are vagaries of the way in which words are spoken.

® According to the passage, the most substantial flaw in the phonetic argument is that

A. pronunciation is not regularized.
B. pronunciation is regularized.

C. spelling is not regularized.

D. spelling is regularized.
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( BEFELEETRIVRY TH1%5H )

#M : Your graduation ceremony will be held next month.
4% : Yes. I’ m very sad. I still want to be here.

#80 : You like our school very much. ( 93 F143BLIN ) ?
4% : The school trip is. I really enjoyed it.




